Day 4

Thursday, November 30, 2017
8:28 AM

Warm-Up

Ellipse/Circle 4x? + y? —24x+4y+24=0

Hx*-0Gx)+ 1z+‘~4\g= -14
H(x-3)"r (Y +2)=-24¢4(9) +4
Y(x-3)+ (y+¥2)= |G

(X‘g)z'+ (y#2)? =)
Y 1o O
a*=16

Parabola 3y%+ 6y + 15 =12x
\

| | 3y “oy=1zx-1s
‘ | : } 3(\/’+27)=12xﬁ$’
FIRANEY 3y F N2 = 12X-IS+H30)
3y = 1Zx -2
3(y+1)* =12 (x~1)

(Y1) =Y (% -1) b* =4
, 49
A LU | Cemder: (3,-2)
i iﬁrkx‘ ( "—'\) verbues: (3, 2),(3,76)
ocus: (1, -t .
u wverbees: (1, -2 -
divectri: x=0 ( ), (5,72)
HW Questions?
QUIZ TIME
Then
You analyzed and graphed ellipses and circles.
(Lesson 7-2)
Now/
» Analyze and graph equations of hyperbolas.
Graph Hypemqias"iﬁ\émndmd Form
2 y?
A. Graph the hyperbola given by 7] = 1.
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X farst: horitontal

y fvst verbad

az?, b9, ¢ - {H9+31 D)

B. Graph the hyperbola given by
PEY 2
(v+4f (x-2°

- 4 w9

Cener ("'1 3)
- Verhees: (=1, ), (~1,~5)

Graph Hyperbolas in Standard Form
cenker: (2,-4)

verkces: (2, -6), (2,-2)
o (Z,"Hﬁg\) (2 >'q-ﬁ)

J

@z 8[ b:; ﬂ

Unit 6 Page 2

BRI iy
e W B ek s b ek |

* = 0GEp T s ss e et d e
Y w9 ol N ARy £

‘/tab' :’;,' .'.\n ,i\:, .
(x-0) A RN
BRSSOy AN S8

ta., Hhmo .‘\“l

7 <

a=2,b=3, c:=\I13

2 a/"*/b

asymphoks: y+H= 25 (% -2)

" EXAMPLE 1 | & Guided pra ctice
_ 2 iz
Graph the hyperbola given by le--» ng) =1,




Graph a Hyperbola

Graph the hyperbola given by 4x? — y? + 24x + 4y = 28,

Hyfeady -y+¥y=23

b (x”-l-(px)-(\’"‘-i\/)'—?.%

i Hlx+3)*- (y-2)* =28+4()+ )
: Hx+3)=(y-2)%> 04

T en)t 2y

N | e ) Q a-t

Cenlcr-'(—s,z\

verhices® (1,23, (-2,2 y

€4 Guided Practice
Graph the hyperbola given by
X2 - y? — 30x — 4y = ~119. K230y —y =4y = 119
T 3(x*-10x) ~(Yo4y) =- 19

30¢-5) - (y+2)t= -4 ¢

_(X~§\7’ ~ (\’ 1»232' ; l
1@ 43

(y+2)* __(X’S)L;' I\
IR a-N4g =473

A

cemter: ( §,-2)
verbites « (5, -2+3), (S, -2 (R
(S, 4.928); (¥, ~§-92%)




